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1. Choose the correct answer: :
“4* |fthe ordered pairs (a+2,4) and (5,2a+b) are equal then (a,b)is ":
a) 2-2) - b) (5,1) 0 (23) . d) (3-2)
" 2 |ff:A—>Bis a bijective function and if n(B) =7, then n(A) is equal to _—
a) 7 | b) 49 c) 1 R |
3. The least number thatis divisible by all the numbers from 1 to 10 (both inclusive) is
a) 2025 ' b) 5220 o c) 5025 | d)'252.0 i e
4. The next term of the sequence == 5 1—18—, ...... is :

a) Jhu 0 Y 0% A

2 .1 . | :
5. Y +72‘isnotequalto =kt Sac et

vé 1 2 ' 2 . ;T T
atr a(ef o 9
. 6. Ifthe number of columns and rows are not equal lnamatnx then itis said to bea - 2
‘a) digonal matrix : b) rectancularmatnx AL CNT. - T ‘
c) square matrix . d) identity matrix

7. Two poles of heights 6 m and 11 m stand vartically on a plane ground. If the dlstance v
between their feet is 12 m, what is the distance between thetrtops’7 e
'a) 13m ~ b) 14m- c) 15m Cd) 128m
8. In figure, CP and CQ are tangents toacircle - o

By

N Yo . DR VSRR LIS 'S ¥
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with centre at O. ARB is another tangent touching g . i
the circle atR. If CP =11 cm and BC 7.cm, i
then the length of BRis ; t <-
a) 6om ~b) 5em- o
¢) 8cm - d)4cm ; 7 —:%
9 0f slepe of the line PQ is }/ J— then the slop ofthe perpend|cular blsector of PQ |s Ii;
W BB 9 e 0 e i
-10. Ifthe glven hne —-x -p passes through the pomt (_4 4) then Value Ofpls L3 7
. a) -4 | .)2 ?) =3 PP c)0 . : d)-8 e T R
1. lf(sma-l-coseca + °°5“+Se°a)2‘k+tan2a+cotza then tha valu TR
a9 . . tsv) 7 R SR d)"a;UGkalSequalt;
12. The relationship between the height and radius of the he |
a) equal b) unequal misphere is _

' c) mcreasmg - d) decreasmg
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(2) XMaths
If a letter is chosen at random from the English alphabets (a,b,....,z), then the
probability that the letter chosen preceeds X

3/
a) "%, b) s . ©) d) 726 ot
If S is the standard deviation of values p,q,r then standard deviation of p=3, q-3,
r-3is : X
a) 3S b) S+3 c) S-3 d S
' Part- |l

Il. Answer any 10 questions: (Ques.No.28 is compulsory) 10x2=20

15.
16.

1Z,
18.

19.
20.

21

22,
23.

30.

. Ifthe ratio of radii of two spheres is 4
. The equation of a straight line is

. Find the LCM of the following polynomi

. Consider the given information regarding the i
number of men and women workers in three | Factory | Men Women
factoires |1l and |11, | 23 18
Represent the given information in the form of I 47 36
a matrix. What does the entry in the second row .
and first column represent. - - - S N 15 16
Part-1li

lll. Answer any 10 questions: (Ques.
29.

LetA={1,23}and B = {x/xis a prime number less than 10). Find B XA,
If 13824 =22x 3, thenfindaand b

120088 _ cosecd + cotd
\ 1-cos® |
Arelation 'f'is defined by f(x) = x* - 2, where x&{-2,-1,0,3} ‘
i) List the elements of f i) Is ‘f' a function?
Find the number of terms inthe AP: 3,6,9,12,..... 111

IfAABC is similarto ADEF such that BC = 3 cm, EF =4 cm and area of AABC = 54 cm?,
find the area of ADEF.

Show that the points P(=1.5, 3), Q(6, -2). R(=3, 4) are collinear. .
If the total surface area of a cone of radius 7 cm is 704 cm?, then find its slant height,

If A'and B are two mutually exclusive events of a random experiment and
P(notA) =0.45 P(AUB) = 0.65. then find P(B)

Prove that

7, find the ratio of their volumes.

2 =y) + 5=0. Find its slope, inclination and
intercept on the y-axis. .

Find the average of first 100 natural numbers.

als: p'-3p+2 p*-4

-No.42is compulsory)
LetA={x ¢ W/x<2), B={xeN/1 <xs4}, C=(35). Verify that
Ax(BuC)=(AxB)u(AxC) { -
Ifthe function f: RoR is defined by

10x5=50

2x+7, x.<_2 3 1459
f(x)={x®-2, —2<x<3 ~-L,-bpi.2

, find the'val
3X—2_ xX>3 . f_va ues of
Il .&] >
) f(4) i) f(=2) i) f(4) + 2i(1) i) %}ﬁf’
Ui Rie g
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. IV. Answer all the questions

—

(3) o XMaths

11 12y  (-76) A .
31.'If~A= 21 80 B=loa 21 @5 5 | verify that A(B + C) =
N

32. Findthe sum of the series : 62+ 72 + 82+ ... 212
33. Find the area of the quadrilateral whose vert|ces are at (—9 -2), (4,a) and. (@-3) ( P —3
34. P and Q are the mid.points of the sides CA and CB respectlvely ofa AABL. !
angled at C. Prove that 4(AQ? + BP?) = 5AB? ‘
35. Find the sum to n series 5 + 55 + 555+ ......
SR 1 '
2 -5x+6 —3x+2 x2-8x+15 . .
37. If x sin% + y.cos* =sin cos6 and x sin = y cos6, then prove that x2+y2=1 -
38. "A solid right circular cone of diameter 14 cm and height 8 cm is melted to form a
" hollow sphere. If the external diameter, of the sphere is 10 cm, find the internal
diameter.

39. IfA,B,C are any three events such that the probablhty of Bis twice as that of probabllrty
" "of A and probability of C is thrice as that probablhty of A and if P(A ﬁﬁ)=-6-

36. Simplify :

P(BmC) =1 P(Ar\C) =1 PAUBLC) =2, (AmBnC)-?-ls- then find P(A),'.
P(B) and P(C)

40. The time taken (in minutes) to complete a home work by 8 students ina day are’
given by 38, 40, 47, 44, 46, 43, 49, 53. Find the coefficient of variation. *

41. If the radii of the circular ends of a frustum which is 45 cm high are 28 cm and 7 cm,
find the volume of the frustum.

| 42, Find the square root of the follow:hg polynomial by division method:

S7TX?-283 +4xt +42x+9 o~
' Part-lV

2x8=16

43. a) Draw atriangle ABC of base BC = 8 cm, AA 60° and the blsector of LAmeets .-

BC at D such that BD = 6 cm.

- (or)

b) Take a point which is 11 cm away from the centi'e of a circle of diameter 6 ¢m,
| Also measure the lengths of the tangents; -

4. a) Dususs the nature of the solutlons of the fo

8x the et howung quadratic equtaionl -

A . (or) N - '

3 b) Drawthegraph of y=x2-5x-p=0 anq_hence éolve Xt=6x=14=0 |
L '

N . et



